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SECTION - A
INDIAN AND AP ECONOMY
1. What was the primary reason for the current account surplys in 94:2()23-24 ?
(1) Increase in merchandise exports (2) Sl'lrge n Sef.‘t/tlces e‘xports
(3) Decrease in imports (4) Higher remittances
2023-24 Q4 & 58085 5T 085 grEe WoKHe0 PG 5°5ea0 D063 9
S 5 <. > Ioocine g
(1) Jome Mo0EE DK (2) ds© MOSEE” 288850
(3) BroSoses’ S (4) ©B% 3opes
2. When currency is bought at a lower price at one place in the fpreign exchange markey and gt gy,
same time sold at g higher price at another place, this process is called ,@{E.E
(1) Arbitrage (2) Rationalization O
(3) Annuity (4) Semi Bombla_,
BB SrEEY D563

(37B)$5)6° e.5Fes BES (50 BN oo 3, e 300N 8% e
DS &% DEC0DS Ik T &5 PEAD eoerss,

(D 065535880 (es8y &)

() ?;Pii)ané§dm
(3) Seraisses (atrsged)

(4) 2 wroey
- Statement A : The RBI announced 4 temporary I-CRR of 10 Per cent on 10 August 2023. & Il
Statement B : This action i

mpounded about Rs, | 1 lakh crores from the banking system. ij?‘,,,
(1) Only statement A'is correct

(2) Only statement B is correct
(3) Both statements A and B are correct
(4) Both statements A and B are incorrect

» < 10 20 a8 I-CRR 2 ©5eodod. E5E
5550 B : 8 565 ersolof 55 00 sy T LT eg Serso 3o Srmowomp, rel
(1) gargso A STESD B0
(2) T5ers90 B smgsds QB8
Q) Tsrsres A s0a% B 3

4) Tsres A 58050, B3

A

l%

Pty b@&ﬁi)
oL S35 3%
4. Which Article of the Indian Constitutjon €mpowers the Central Government to extend loans
to State Governments ?
(1) Adicl202 (3) Article 294 (4) Aticle 295
D002 Ta 9SO eSS CTarsoiodR O w0

(1) egsé 292 (2) €856 293 (3) Q56 294 (4) 055295

(€)
4
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5. Statement A : In Ap. capita]

R
expendityr, ; - [
Government expendityye durin;;);'(])(:gme constituted less than 15 per cent in the total =3
Statement B : Capital ¢ 21

Of g
creation. Xpenditure reflects the State’s commitment towards infrastructure
(1) Aistrue, but B ig false
(3) Both A and B are true
BSOS A SOGEAES® 201
15 300 Soi3 S5 ¢on
@503 B Soress S50%0

(1) Adeso, 58 B es SR REoraire SN RIS U’&;x&)aagéaﬁo B3B8,
1 QJ(DJ &
(2) A &5y, 5D B Deso
S Ve 4) A mépom B Botir &5y,

(2) Ais false, but B is true-/

(4) Both A and B are false »
6-21 3085

5 S'008° Fnsso ©EOE S0h08" Sareg:s ssomo e

6. Which external funding

agency ig i igati
Aprienlfars Transformation ij);ct ?Supportmg the Andhra Pradesh Integrated Irrigation and
(1) IM}F (2) World Bank
(3) Asian Development Bank (4) European Commission
SOEEDE 30 RBE 56RSS S8k SySra 585 St DBy eries Desoe DBy B
(1) IMF (2) %05 erso%H
(3) esdasw eaé’,);ﬁo)cg 2505

(4) rEHaHS K055
7. Match List —

I'with List —II and choose correct answer. (Common codes for English and Telugu
Versions) R v
List -1 FE'%“’ List — 11
a. Monetary Policy b i. Tax R_ate
b. Trade Policy _ ii. Margin
¢. Credit Policy . lil. Imports and Exports
d. Fiscal Policy iv. Bank Rate
20T -1 e — I § essd00 908 ST Joisot’od.
i 580y Gewo -
2. (535 Dgeiso .f' ;’y &5
b. &SE b ii. 3579
IR i, BION%00 508050 MsSossns
C. Bl o  EEg
g =5 iv. 7508 GeS
d. e dgrso .
Codes/s* ey a b ¢

gy v
@ W & R
@) i i ilv
(4 @i

iii

5 (©)
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8. Which of the following statements accurately describe the environmental impacts associa |
. S -' ' D d {:(
with agricultural practices ?
I. The application of synthetic fertilizers and pesticides may result in soil and water @,ﬁ[ﬁ

Ot

contamination.
I1. Sustainable agriculture focuses on preserving soil health and protecting biodiversity
111. Modern agricultural practices are unrelated to the depletion of freshwater resources ,

IV. Expanding monoculture farming supports overall ecosystem stability.
(1) Mand IV (2) Il and IV (3) Iand III (4) Tand I

SV AW BgEo0s’ Snddd e S05S0E BErTom o8 T38" 2 (BB PpBor VLT )

A
Sh N

I 208638 dE0Hen SoB0%0 BB TS0 B So8akw Db Seodgrdd TOOULSL:,

-
Seaw

1. 208 Sgsralbo Jo es8mgdy Sos§oistio Sodakn B5IG GGoHEoD Sy O,

1. e Sgsrak Hesehe 500063 S:550 S Sowoto 8. E?,_EE
IV. 3r8e)5 s550ird) 0050 3o Sogsses Sy RoTms STabSEes. B
(1) MSo8as0 IV (2) I So8aso IV (3) 1556050 Il (4) 1500805011

9. Assertion (A) : The Indian economy demonstrated resilience despite global geopolitical

10.

challenges.
Reason (R) : India’s fiscal and monetary policies ensured economic and financial stability

post-COVID.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A)is true, but (R) is false

(4) (A) is false, but (R) is true

5D (A) : (5303 FAPE owSald $ &55y53)e38 a0 BB S5y POTIEES (36560008,
st (R) : 675530 G, 508 Sobak (5355 IFmres SIE SU5S &Q8 Sobas ¢y A
Ty DTPOOT . } S
(1) (A) $oBa0 (R) Botir S35 30800 (R) €30 (A) B8, 588 3556

(2) (A) 508055 (R) Botsr $332, 5% (R) &R0 (A) G0, 08I 558 $°¢%

(3) (A) 98, 570 (R) 82y

(4) (A) S5y, SR (R) 80
-national Monetary Fund. Thig i s ) ‘

: th

2) Gold ¢ form ot
(4) Book keeping entry only
woi3 ©odFIAD ©I5 OO (IMF) Gy,

Special Drawing Rights is the currency of Inter
(1) Paper currency

(3) Silver and gold both

2y (&Fosoh gcj) (Special Drawing Rights)

A AN Z.LQDRO (SB&)\)
30 2 EFrHod” €:0t0od ? w

9,

(1) =°AGD :'afu) (2) 2000
: . Iy o B a0y SRV FRe o

(3) Iod, worrdo Boti" (4) T, RIS FT"Q (208 SR \00@3) _—
I DI0
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12.

13.

14.
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(ndia’s rank in World Bank’s Logistic Performance Indéii‘,in 2023
0 15 ) 27 (3) 38 .3 4) 49 .
2023 & (550 afzsog JOE Saoes DB B (ERE 1OTdy 0G5y & rEBRFo o508 oﬁf@
o 15 @) 27 (3) 38 . (4) 49 e

Assertion (A): Transfer eamings are not to be included in the estimation of National Income.
Reason (R) : Transfer earnings are not payments for factor services.

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct and (R) is not the correct explanation of (A)

3) (A)is correct, but (R) is not correct

4) (R)is correct, but (A) is not correct _—
L5 (A) ¢ erDOH emraso woid” w89 errdires Besyersss. E&_’];;-
=

wimo (R) 1 280 smralres 56 ©30% IPodew 5.

(1) (A) 308050 (R) Bocar ST 358050 (R) @36 (A) GBo0E), 3 D588
2) (A) 358050 (R) Bodir BB 30080 (R), (A) SBoo%), HBS DSTE? S°¢0
(3) (A)3IBXB, 5 (R) $B56 526

(4) (R)3BB, 50 (A) DBHE 5760

The situation where a country simultaneously imports and exports the same product is called
(1) International reciprocal trade (2) Internal reciprocal trade

(3) Factor reversal trade (4) Intra-industry trade

o5 Bo DEsreod’ o8 &thB OIS B30555 00 MDD, B SEPBR s 300 T3S’ B @0eT > ?
(1) eoscda 380 Toedes0 (2) ©oBES HEHS Tredesgo

(3) 556 B35S B3 (4) goer-gocg E&

Which of the following statement(s) is/are incorrect r.egarding the GST Council (GSTC) ?
I. The GST Council is a constitutional body established under Article 269A of the Indian

Constitution. ' |
II. The GST Council is responsible for making recommendations on issues related to the

Goods and Services Tax. . 2
Ill. Every state does not have an equal vote in the GST Council.,
IV. Decisions of the GST Council require a three-fourths majority of the weighted votes

of the members present and voting.
(1) ITand IV (2) 1l and III (3) land III (4) Only IV

GST 306 (GSTC) 3 Sowodo 808 He52o0e508" D8 /ID B3y ? —

L. GST 305 @30 a7°88 o%‘éo?ﬁoés D 5958 269A (35700 LHOBLERS &8 Omargol By, i@"‘ i
Il GST S0y e SKgde $5o00%

5350 HB2E VoWOPODY BBB5OD VSR BaXEO .
Il GST TS5 B oG 0557 &

30 &0CEE30.
IV. GST 36 GBoots), DgATosd 00 $o8a50 8,308 B, D850 BowBE £.48° Trevhoe
St Sotn Boer0ed @SHE0. '

(1) TS00aso IV (2) T 30005 11 (3) 150605 111 4) IV S350

7 (©)
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5. What is the significance of the new payment settlement fram

— &‘—1

2(}/202

| : BI

(1) It discourages the use of the Indian currency in cro
(2) Itaims to encourage the use of the Indian ceurrency in cross-border trade
(3) It eliminates the need for foreign exchange reserves
(4) It increases transaction costs for exporters

FEIRE D33 Soedesg Doeaso 2023 Po&8yo8® RBI

R Lo

E322635 £ 3oy SIS Do (2
[E [23535.’)52) OBJO§L @"éi)oa.)gé DAoe3 ? : y L

ss-border trade

< A} bﬁ&@"a?ﬁ"éﬁ)v‘o
(2) R0 Tedess08® ersBags SBNY e

(3) 38 BY s Do VIHR) Son

ggo
Q08
(4) 38 BB Sre, SRrviTa ) PEN

S0 VOGBS

second largest producer of fruits, vegetables and sugar.
(1) Only statement A'is correct

(2) Only statement B 1S correct

(3) Both statements A and B are correct

(4) Both statements A and B are incorrect

TGO A grOSTHO 08B Fo &HB.

500 B & erSB3%0 Bois eod A DK, EPSTAHEn Soda%hs BB BB, FE]?‘_%
(1) Srggrgso A Soesso et

(2) Tgargso B SorEdo 5856

(3) Soco D°ggor@0 A Sodako B ?6?_«53)

(4) Soto Jgargoren A Sodakno B PSSV ASEN)!

17. What challenges does India face in managing its oil consumption ?
(1) Lack of domestic energy demand
(2) Consistent global oil prices

(3) Supply chain disruptions and fluctuating global oil prices
(4) Abundant oil reserves

e
B50080 DB DE05E0S” grEBBiEso Jeroed TTH 60008 ? B
(1) BBAH 30gS &soro& BsDss¢eso

(2) REIS LOSBEHAD B50B S

<

D) = = mex)
(3) VBT Faodd (33 Do) eoBorases SoBakd boé%“@om Sa30080 S8 2581
(4) DHLorr BB0080 Jogen

(0&‘5306"5

(C)
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g What impact does an increase in the GNP deflator have on the purchasing power of money 7 I;E-]“.lg!

18, W Z oy
(1) Increases purchasing power (2) Decreases purchasing power [CIPatt
3) No jimpact on purchasing power (4) Enhances the value of currency

GNP &éuS 2ONOBY ey 50f e %_%E Qeroed (g0 P08 7
& (2) SR a0 ¥4 SR
Slefal (4) 50y D88 PoBBCE

¢

0]

oo (&6 §ON B il
(N § 200 00 D VoL

Ir

) Taof oo 38D Perso

Pe?

10, In the Union Budget 2024-25, the GOI has promised funds to the following industrial nodes as
part of the development of the Vishakhapatnam-Chennai and Bangalore-Hyderabad industrial

corridors H
(1) Kopparthi and Orvakal (2) Chittoor and Donakonda
(3) Orvakal and Donakonda (4) Kopparthi and Chittoor

3o 2&eS 2024-25 &, DBPBENC-TDy o8k 50210;25"63-23_%5662;*5 FORBAE SETre (5°0&Y)

s

| D308 GRS O TOEWE T, GG (H40850 Q¥ HFFAo Wb ?
| (1) 3558 508050 8556 (2) DB S0 FSE ol

(3) 80586 bk B30 (4) 58 308050 DBEFEH

20. Which of the following statements are correct regarding PURVODAYA scheme introduced
by the Government of India in 2024 ? ;
I. The PURVODAYA scheme aims to improve infrastructure in the eastern part of India.

II. It deals with Buxar-Bhagalpur Expressway. ‘
llI. New Delhi-Kolkata Industrial Corridor is being developed as part of the PURVODAYA

scheme.
EEE
IV. The primary goal of this scheme is the development of EE_La_g_a_g State. ’EQ}L;:
(1) I, 1T only (2) L 11, I1T only
(3) IL I1L, TV only ) LIL 1L IV,

2024 & oyise NS B382e33 éyossscsom IS8 DooQoNS Bod (HELISOS’ BBBos D 9
I B at 6550 grosBEos™D B3 o808 STDK BEHLTcires> DoIBSSsEe osor

238008,
= 4 -D a. o) .. 3
1. 38 e%5-grKomb M5BT H02208OW0 %-;‘:;_: ’

11, 533&3‘)—’5’65@ T NE 5000 @D %76 A0 BEeS® grro.
IV. Koesond origo ey B HE°S 0Fg0:

(1) 1, 11 Sovs (2) L 11, I 33
(3) 11, 11, TV 557830 @ LIL 1, 1V
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s * 9
21. What was the purpose of the 49 fine-tuning operations conducted by the RBI during FY 2024 *

22. Which of the followin

23.

24.

(1) To tighten liquidity conditions

(2) To ease liquidity conditions _

(3) To maintain liquidity conditions in alignment with the monetary policy stance
(4) To increase the money supply

FY 2024 & RBI 3 d5groseds 49 P 7500R @53 esddgo Doed 2
(1) (33585 BJSox 0SS0 JaHeds

(2) (B85 VYoo Hoogisso SaHadi

(3) OIg8s e 368 woKserom (B85 SORBOOD DZrosES
(4) G2y DO DS

g are included in the Reserve Bank of India’s Foreign Exchange Reserves
(FER) ?

a. Foreign Currency Assets (FCA) ;:E] % b. Gold

¢. Special Drawing Rights (SDR) & 4 Reserve Tranche Position
(1), aand b only (2) b, candd only
(3) a,bandconly (4) All the above

Be8s 7508 5B godasr BB sy B35 e5os” (05 I8) yoif 0ebs) (FER) 808 7e36° 99
Dhezon ?

a. BB E3 esdoeo (FCA) [—%%‘?]
C. (B35 @rooh sEneo (SDR) %

(1) as08a%n b SoeEsso

(3) a, bSoda ¢ SEso

b. orrdo
d. @%5‘5 (ePod 3{;’50
(2) bye SoBaw d SEso
(4) 232
Which Indian organization is responsible for estima‘tiﬁg the National Multidimensional Poverty
Index (MPI) ?
(1) Planning Commission (2) NI.TF Aayog .
(3) Reserve Bank of India (4) Ministry of Finance
3536 3o9TI03:3S 5§ 5oREy (MPI)R esoise IaHeds O grsdan ROR W GgE8S2R08 9
(1) SerdE som00 () NITI eosigg .
(3) Besbg ersof esd godass 4) e;sgg So0DEg TP

b

The severe balance of payments crisis, faced by Indi,av.‘in 1991 ¥as clhgr?‘ctirlzed by
(1) High inflation, low foreign exchange reserves a.nda large ;ssc:ndea 1;; e
(2) Rapid industrial growth, increased foreign exch?.nge lr)ei.erved i s rplus
(3) Low inflation, high foreign exchange Teserves and z:i f::l anlc:deﬁcit g
(4) Strong foreign investment inflows, low inflation and fisca

1991&°, erE8050 Heo87)S, S0 ergBdy e3P iﬁooeﬁg K)ogsep’i‘%éoé DGO 3583008, %eﬁﬂ
(1) ©f% ET5ene0, $K35 BB STEE Dogew 3280%0 23 (535 m;g -
(2) InBOBZOS JOFE 38, POAS BB ST6E ﬁ)oog@jw;‘b@o:i» mg :§ - o0
(3) B (BT 50, @HE DY ST6Y Dexen maom‘g;o@o§ esi B E}

(4) 20305 DB 1ERE (FITo, B (5T 590 S50aT0 e

10 (©)
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26.

28,

E&Undcf the Industrial Policy of 1991
25~

) The mandatory convertible clause is applicable to all term l0ans ore than 10 years
(@) The mandatory convertible clause is applicable to term loans of M . thani 10 years
(3) The mandatory convertible clause is applicable to term loans of 1ess -
@) The mandatory convertible clause is no longer applicable _—E;_ T
o

1991 FBE"E IS0 (F5°So

(1) S9OD8 5550e08 Jwoss e 66, E'Set> 3039080

() S0 E55RenS D0S 10 Bos8y0r0 Koid oy €6y 8905 581900
(3) SV SRS Deoss 10 Seisebyore Sodd st by S0t 3920
(4) S5O0 5350206 VoSS 98D $Goises> -

At what subsidized price per Kg did the Government introduce ““Bharat Rice” for selling throug

NAFED, NCCF and Kendriya Bhandar ?

(1) Rs.2 (2) Rs.29 3) Re. 1 (4) Rs. 12

NAFED, NCCF 558050 Soi8ah glow crior Diomosad (eodso ‘a7 307 J 38°8 O BEG
558 BF0eIod 9 b

(1) Rs.2 (2) Rs. 29 () Re. 1 (4) Rs. 12

: =] 7]
. Which organization launched the Credit Guarantee Scheme for the Livestock Sector ? i%}

(1) Ministry of Finance

(2) NABARD

(3) RBI

(4) Department of Animal Husbandry and Dairying
Shospe GorTDE S ot SESD O oy (Hxdod 7
(1) e85 Soo@g 79 :

(2) Frer§

(3) RBI

(4) 3% Sosgy S0k FGHOFED TP

Which initiative was launched to provide a tap water connection to every rural household by 2024 2
(1) Jal Jeevan Mission (JJM) (2) Swachh Bharat Mission (SBM)
(3) PM Poshan ba(4) AMRUT
59 ("er 5033 2024 638 Hem00 V3 SO ©0B0SERR B 5SS B SoBosndos o S0
(D) 2o disis 2058 (JIM) (2) RgF) 268 S (SBM) s
3) PM 2565 (4) AMRUT (99359y5)

11 -
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smic reforms. the Indian cconomy saw a shift towards
>O81-CCONK s AU
29. 1 ;) Inereased government control (2) Reduced foreign trade
( ncereastcd & X . . . .
(3) Enhanced global integration (4) Decline in private sector growth
) L AL M 5 !-—G ‘ 2908 egH)X 4. %4 R o
t‘.-‘;‘QS ?{)0:\'}2)0&"30 VOB STO0Y , 2P0 U@)g P é.gceo Lgoa) ﬁ"Q)Q (_Wgo&
(1) EOEg daLowed DONCH

(2) 283 edesso Bhod
(3) DoEORS BHoDESE (s 30e3RRS)

. £
(4) @3e550K 5HOE $eaes

30. Assertion (A) : India’s real Gross Domestic Product
and external challenges.

Reason (R) : The focus on maintaining macroeconomic stability ensured that these challeng
had minimal impact on India’s economy.

(1) Both (A) and (R) are true and (R
(2) Both (A) and (R) are true, but
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true
@56 (A) : B0 500 erig Seh esysydd FY24 & grosesdiy 5% GDP 8.2% 2808,
s*5e20 (R) - OO ey ?86@5391 3 RoSEo 2 qu)?&ﬁo@ééox‘jdo 59 B ST eSS €80 g
BES @’)2,7’5"3& o e ool

(1) (A) 55805 (R) Botss Deo 508051 (A) & (R) B D5ed

(2) (A) 398c50 (R) Btk Jeso, 50 (A) & (R) B DasEd S¢S0

(3) (A) Dezo, 7 (R) Sy

(4) (A) 85y, = (R) deso

(GDP) grew by 8.2% in FY24 despite glob;

: ; i
) 1s the correct explanation of (A) fil?‘
(R) is not the correct explanation of (A) ’

31. Which of the following factors could potentially contribute to stagflation in the Indian economy

. : , o
a. High inflationary pressures due to increased Government spending. Eil,n E]
b. Decline in industrial production and sluggish economic growth. Ofg

¢. Decrease in aggregate demand and consumer spending. B
d. Appreciation of the domestic currency leading to reduction of export competitiveness.

2) b and c only
1 (
((13)) ia: c:x)doc;l o);ﬂy (4) All the above

Qobd T3 D smren grts eQ¥ Sesgs’ 3u8t (FAFRS) 85to Jakres ?
a. DOAS BHEOB; Sgo%0 SEEoNT 9§ (SR t8G. .
b. FOFRE &5yBE° §eads $o00K0 S0BA0DD GBS Y. L Q;;
c. BoGo &5l $5o00%0 DABFHE T Ssof08” SrRGe.

2355 BBAKH EBy Vess DEIG.
: B FPSBT Dy BROSEIE OB
? Qtfgcﬁw b méﬁi § (2) b S08aw ¢ ST
-t (4) PS5 ;
(3) a, c So8a%o d IEBI> 2
12
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1 which of the following statements is/are correct about Foreign Portfolio Investments (FPI) in
T 2024-257

33

I.
11.
111

2G/202

The Indian Rupee (INR) moved in a narrow range with low volatility despite FPI outflows.
RBI set investment limits for FPIs in debt instruments and Credit Default Swaps.
FPI investment limits in government securities and corporate bonds remained unchanged.

[v. RBI issued an operation framework for reclassification of FPI investments beyond ?}%{?
permitted limits. A

(1) land Il only (2) I and IV only

(3) All the above (4) None of the above

2024-25 & B8 FEFOG> 53 TBo0e5e (FPI) 56800 @od (5508 2B(D) $I30(D) ?

L

IL.

1.
IV.

FPI ey S590:0e (eipeidfen) dsyonesd grtss sarom (INR) 855 @R058 35533
B3S° 5680d.
HoEs TR0 3580 toes DD 28O (8BS &G F5)oS® FPIo §750 2¢33208 5008008

RBI Q0200Do8b. D
80 ETBeI0S” SoBase 6865 erog” FPI Deped $50Josoes S558e0. O

22350500 $OATooZH> DoodS FPI Degeriooss SO 385005603 RBI &8 s°ongisses
TG0 (SH0IS [P0 360 e2d Jobd.

(1) 1508050 I SrEsado (2) I 5080520 IV S350
(3) 25 (4) 23 578

Match the sectors given in Column — A with their corresponding Gross Value Added (GVA) Growth
Rates given in Column — B (Andhra Pradesh Advance Estimates of 2023-24). (Common codes for

English and Telugu Versions) ER
Column - A 'E]?"Ej Column - B
a. Agriculture and allied activities A. 521%
b. Industry B. 8.02%
¢. Services C. 1.69%
NS T0od™D) 2560, ©E ToSS” 63 0200 (S0HERBE 2023-24 30y BoiTre (BSE0)
GVA Bﬁq)% BeSos ‘(65@6@&0&.
oo — A oo — B
2. SEFIODH0 SoB0K0 @B0WOE sogsorreo Al 5.21%
b. So@Ese B. 8.02%
C. D3® Soko C. 1.69%
Codes/5* G e a b c
Ay € B A
@ aAa B €
@B A €
@ C A B

13 (©)
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34. Which of the following mechanisms is NOT primarily followed by the Reserve i
o India (RBI) to manage exchange rate volatility ? € Bank of
(1) Fiscal Policy Adjustments
(2) Foreign Exchange Reserves
(3) Market Intervention

(4) Liberalized Exchange Rate Management System

208 DS’ S50\ B2 9550 DSl

S;ﬁ@gﬁdb g - N $TOReE08 Oesbs 2750 es5 godas (RBI) Bersor &2
(1) e88 I5°S S&eren [_E!"'%El_q
(2) BB S8 degeo o8
(3) 3B &550
(4) BEIHS 5765 Sewo DSgren 5GD

35. As per the Budget estimates of 2024-25, the percentage of public debt in the GSDP of E@‘i
Andhra Pradesh in FY 2024-25 is estimated as =
(1) 31.46% (2) 34.14% (3) 33.71% 4) 32.60%
00T 25e5 2024-25 (P50, 2024-25 €30 $05585)508" es03R0E GSDP &0egbs S 780
[T WOST® IAHVSOH.
(1) 31.46% (2) 34.14% (3) 33.71% (4) 32.60%

36. Which of the following are used for measuring of the high-power money supply (H) by RBI in India’
(1) Currency held by the public + Other deposits with the RBI
(2) Cash reserves of the commercial banks + Other deposits with the RBI
(3) Currency held by the public + Cash reserves of the commercial banks + Other

deposits with the RBI _ _ ,
(4) Currency held by the public + Cash reserves of the commercial banks + Time deposits

of the commercial banks + Other deposits with the RBI
S ESH0S ©E-956 $0d 33 (H) a5, Fosd® RBI 302 &3BTAg08 ?

(1) Seso 5 &) 50 + RBI 5§ &) 380 e3¢
(2) Tredesg er5OS00 SK¢so dexen + RBI 565 €3y SO G°e2e .

(3) e 5 &3 532, + Toedes; ergo0 $51es> Dogeo + RBI 5¢ &) aavmo:b %2 s
(4) Pz 3G e §B§)Q + Fredesg e°g0500 580 Degeo + Teedesg 25000 O >

RBI 5¢ &) 80 Gareen 23
2 9 E
37. Which of the following is not a method of measurement of Natiﬁnzl Income *
(1) Value added method g; gfs?zz dm: & c?)unting method
(3) Expenditure method
@0 738 erBo%y escrairdy OB 3G 700 26 ?

(1) Deoss EEoDS DO (2) escro HGB

A 538
(3) S50 B (4) iy Sobat eFoeloh 3G .
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Vi
- There isno GST on which of the following ? ;@&;‘_‘%
) i petrol and Diesel ii. Liquor ®&5%
pit. Electricity supply to consumers iv. Services of Charitable entities
(2) i, ii, iit only (3) i, ii, iv only (4) All of the above

() i ii only
—os3&° 363 GST S0 ?

o Desogd HEHO? iv. ©°8ys Soge wBw

'. QBN
(2) 1 ii, il ;’D"Lé’ﬁzﬁo 3) i, 1ii,iv So°E530 (4) Z’iébel

il
1) i i S
As per the Economic Survey, 2023, which of the following statements correctly describe(s) the

rrend of Foreign Direct Investment in India /: | %‘“E
2. It has decreased due to less participation of the private sector. EE! 7 B

b. It has increased compared to the prepandemic levels.
¢ It has increased rapidly without decreasing in any Financial Year after the telecom sector

was entirely reformed.

d. It has decreased due to a weak global economic situation.

(2) band d only
(4) donly
SBHS® DY (5%, DeReE0 Bobss 808 73" D BES(20)

(1) aand c only
(3) a,band c only

257208 83y, 2023, 5750, o

25385008 / DBB_ITHOX 7
. EHRE
2. (900055 Bolo gPrgogo SERIN &ose08 30 SRod. ..E‘g;. =R

b, &0aoE owes DY 3O 2OACE.
c. 839sr0 SoKo o ‘éoébaoéaa&«‘é BSOS Des
d. welrsRos (8ol Qs S0k Soe 30 SNOBD.
(1) aSoBafo ¢ ST (2) b 35050 d S350

(3) a, b 000 € STEB (4) d SooEsado

8 $0SE8B0E 8> S0 JorT BORCE.

40. Which among the following statements is correct ?
(1) Balance of payments includes current account and capital account

(2) Balance of payments includes only capital account

(3) Balance of payments includes only current account 5
(4) Balance of payments includes only export and import account -
& 2B (HEesed DO BINE ?

(1) 30D asvéas‘b@és K305 T S0B0K0 SO TPT® EosTos

(2) 2Qowp erBHHPE TS FE SIBR &otod

(3) Do BB S K305 §T° STED> otod

% £ G
(4) DOoD a5°§é3(o‘3@66 D5508 BoBA BIHBD TP SPED0 dotanod
15

P
(€ '\
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41. What is/are the goal(s) of SEBI's new move to introduce T4 0 settlemeny » UE"] b
I. To enhance liquidity and reduce settlement risk in the stock nnnku E];“,,

I1. To minimize counter party risk and enhance market efficiency, .

1. Potentially reduce the impact of n}urkcl volat’ilily on sctllcmcnt.,

IV. To increase operational expenses for market participants. ” ’

() Tonly (2) I, I only
(3) L IL III only (4) All the above

SEBI £ 35392631 T+0 23680065 GBoot), (9575 050 063 ?
L (98ce3) 555080 doiseso 0050 JLE SrTeSE’ (236065 6) 568 557

SN O
U v

[I. 8% o8ISR 386 F§ (Foromd) BSmed Shotio Hobaks 53 ST Fsss

./>‘* ) et

III. 50311502 35865 efse (9e7m°R) Sogrsgon Sfokco. o
IV. 550165 eriirgsonnts (0R2061) 5°0nsisten HEess DoSEo. O3S
(1) T3res 2) 1, 11 3085

(3) L II, III S50 4) 0

42. Statement A : All India Per Capita Income for the year 2023-24 (PE) is estimated at Rs. 1847

Statement B : All India Per Capita Income given above is lower than the Andhra Pradesh
Capita Income for the year 2023-24 (AE) (at current prices from 2014-15 to 2023-24).

(1) Only statement A is correct

(2) Only statement B is correct

(3) Both statements A and B are correct

(4) Both statements A and B are incorrect

5590 A 1 2023-24 B058 008 (PE) Foogo 5708840 ool Skt woraio 6. 1842007
eI0ST® BALRGOD. |
Tsargso B 1 2 3080 gro8tEo Sud emrabe, eotSEE 2023-24 (AE) Suis a5
(2014-15 S00¢ 2023-24 565 5508 &5 Ss-50). DJHo

(1) Tggmgso A 5&5s 5356 I
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43.

Match the following Central Institutes established under the A. P. State Reorganization Act, 2014

o their locations. (Common codes {i ish ¢ i
with thett locati - N codes for English and Telugu Versions)
q. Indian Institute of Technology_‘.\,,\ i Buricol ;@%Ef],

b. Indian Institute of Management S~ ——/~ii. Tirupati (8]
c. All.lndla Il}stltute of Medic_al Sciences > / iii. Vizianagaram

d. Indian lns.tltute- of Information Technology o T Viilayavnda
e. Tribal University i

. o ; V. Vishakhapatnam
sOPRBE TP DITsI8es 30, 2014

360G 808 Doy s Gobd Sodad Sogods 763 TTes
a, R0GA0S aﬁOP}szSeS IR 933‘;)@&5, 1. Seb LN
b. 300K 3y eaTses esh 038065 i, BHD
c. esé&aoééoﬁ" AN, 055 59 odES 235 i, Descbsro o
= Q.
d. 3000000 3%, 0G5 &5 331598 Seeyod iv. Descoarcs ;J;;?
e. ABed DB ITgoaho V. FPBENO EF5s
Codes/S*Een a b e ad &
(1) i i vy
(2) v ove iy iii
3) i iv iii \ ii
4) ii iv v ii i
44. Which of the following measures is NOT typicall dt tadi ilibrium i
BalEE of Bastooie (hoe ypically used to correct a disequilibrium in the

45,

(1) Devaluation of currency

(2) Increasing import tariffs

(3) Reducing government spending on domeéstic projects
(4) Encouraging Foreign Direct Investment (FDI)

30w ersBoy (BOP) & e5o8005850 HOVAHES Eod Te38° DB Frrsemonr @_&E—@q
EIBTAOBLIESS ? E=

(1) $3y denss ShoD
(2) BIHSo8 Joostesy w0
(3) BRa FrEgeD PR0S; A Ehotico
(4) BB g Deagercioosd (FDI) @PEyroiico
How does the introduction of the Standing Deposit Facility (SDF) enhance the Reserve Bank
of India’s (RBI) liquidity management framework ?
(1) By increasing the overall liquidity In the banking system
(2) By absorbing surplus liquidity without the need for collateral
(3) By keeping the cost of liquidity for commercial banks constant
(4) By providing long-term loans to banks at lower interest rates
Todoh GIewes 2003 (SDF) (555 eexee0 g;od@oso 5&’55?"535 (RBI) (65355 08558 Dc55wen
St Dm0 (9838 AodootS o Febomiak

s B30 (® S 5. © O%
L g ;555‘866 SIS o <3850 Boome Wiven DB (Brosto o
(2) (eSmont) W/ sse (collateral) © “’Om o S N

9 o

(3) Tedesg GOS0 é')éséeg PO e :;e)?éo eﬁogoécéo Q0
(4) ARSI BRI 5%; 833,,,§3 (5g5°®§ &

17 (©)
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4() \\/’hic' . - 3 :
= ] ‘ > 3 - . . A
of the following is not correct regarding the railway project under ¢

Cr Centrg)

approve ? . : R e AR ot

apj ¢d by the Union Cabinet for Amaravati in Andhra Pradesh ? Aﬂgima

(1) The proposed railway line is between Errupalem and Nambur i
ik
&

(2) The cost of the project is Rs. 2,245 crores for 57 km
3) The line 3 . istricts i
( Distr;g&ﬁfﬁ:;i;ﬁ:gh NTR and Guntur Districts in Andhra Pradesh and Khammgp,
(4) The proposed time line of the project is 6 years
LOFEBES 8500738 E%50 Bo(es Soo@5E0 B0 To(ts B3P0 (o BB B EE: Ko
52 (308 T%3S° B DTS (B35S T 9 =R
(1) BOTOE BT 8BS JGOI*BO Bo00K0 $0eN"E0 3655 €00
(2) &8 (@B Sga0o 57 ES°DoeastH 8. 2,245 Sy
(3) s BS; BS es0BRBIED s 300011 Ko0e s gre DENT S0 BEOTET i
2T MOOG® IFOBOOE l
(4) @ZTrEE FOIOS STBOB 6 HoIGHoTe

47. Which of the following reforms have contributed to the improvement of the Ease of Doing

Business in India ?
(1) The introduction of GST (Goods and Services Tax)

(2) Removal of all foreign ownership restrictions in Indian companies

(3) Nationalization of all private banks
(4) Expansion of public sector enterprises into new sectors
e SBB0S” Tgrtio Bato JooBEo SaOEDE God SovSad: D6 SrEHcod ?

(1) GST (33390 550050 SO HB8Y) (538 Qi
B> Sonded® ey DBY eSSy 30

o
&

et |
&

=%

(2) g6 Dot & e:ﬁo;’;c‘éo

(3) =) @
(4) E0SEoN D

3¢5 ergo%0 e BoTECE?
oo % Sor&™8 DHBoBEC

ssifications of unemployment is

jated
predominantly correld

48. Which among the following cla

with the agricultural sector T l »
m

(1) Cyclical unemployment _A2) Seasonal unemp oy | -

4) Frictional unemploymen ?M

on eod i

(3) Structural unemployment )
VB grio G3a0%), Bod ;5@3’650065 DO (EHEeSoN” SISVISRELE Sl Joeoo S
(1) 3o DB Ko (2) SPerBIDE DBE O l
(3) VomeTE VS50 (4) Hoed /éo@g%@&ée §he ‘
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49, GDP deflator is the mogt Compre
(1) GDP at National priceg to L
2) Real GDP to Noming| GDp
(3) GDP at Low prices to High prices
4 GDPat Current priceg tqo Constant prices
GDP &3¢ 538 308 0e3 5

hensive measure of inflation as it is the ratio of
ocal prices

s (=] B E]
- D8 5355 08 5Fonero Gt oo DBR0S Tols  Fk

(1) =8 oo DG SoBasas IR S8 ¢ GSPgé o - et

(3) S S0 I 5oBA%0 K &Se 3¢ GDP &

(4) PRS G0 3¢ Sodasn ?8‘53%2“3 &S 5¢3 GDP &

50. Chadalawada village where 5

: Cattle Breeding farm i : .
Rashtriya Gokula Mission o i WhiCr;lgDz;grtl:i ::s{ e‘:?stabhshed under Gokul Gram Project under

(15) Guntur (2) Prakasam (3) Nellore (4) Srikakulam
Tyt e 9035955 D S 15> PE§ @t v &5\8 Y0 (5536 BAoR F80) Domyen Baberdss
SBOTE (P00 B JoBIS ?
(1) Kooeass (2) Bs~%o (3) s> (4) B=xvo
51. Which of the following is not true about globalization a'n:’d‘ its impact on India ?

(1) It has expanded trade in goods and services ’

(2) It has led to greater flow of Foreign Direct Investment

(3) Increase in exports is greater than increase in imports.

(4) Increased India’s access to foreign technology and investment

EHo0ESE SoBA%0 a,5°c5€’98%§o§.3 oo (erSo b0 30d T3S DO Jeso soess ? %ﬂtﬂ

(1) 30 SyDe S0k dijed” Federsl) Jdolod %

(2) 38 BB BSgE, DRIV VT ST508 T0dBed -

(3) BrSstion DENHEE K083 M3 DHNES H4S - ]

(4) erssdae BB JoSBES S50AW DERED BOLETRE oD .
52 Which is not a correct statement regarding Rytu Bazaars in Andhra Pradesh ? h@.;‘_:v

’ : 9

(I) Rytu Bazaars were estabhshedd‘_n ;l;igiaéilzl? of Rytu Bazaars
- : Co-ordin

(2) District Collector is the Estate Officer

(3) Rytu Bazaar is man;gzgatr’ﬁ::ﬁxed aiming to be around 25% above wholesale SieRR
(4) The prices in Rytu Ba

25% below the local retail prices
SO HBES’D Beko 2GS %0060 &
(1) Btk werdh 1999 & @;inoézaczcgoogag
(2) Bt eoeres 53055050 ©BSO 233’5@5
B} eﬁfsfz 2255;:"3 25% D5 S0BCI VS BBS S50 So8f 25% KT
(4) B&s 2288 GV

Pl 5 o
e ®§'3058 ﬁ)gopoéa&@? 19 (©)

o8 38 DO HOD (B 260 ?




53. Which principal methodology is employed by the National Statistic
" standard mechanism for assessing and quantifying the unemploymen
economy ?
(1) Quarterly Employment Survey (QES)
(2) Annual Economic Survey

(3) Labour Bureau Employment—Unemployment Survey
(4) Periodic Labour Force Survey (PLFS)

O ©PE 55388° DSBS Frowis wos Sanh
sogeoso (NSO) & 35600 DFBA rSedy ADoE@~o
(1) B37RE e 585 (056°5:3) (QES)

(2) QX es05 &g

(3) 86 ars® DOT055300¢5-D0E s %5Cs

(4) BT EE Sers Gy 335 (PLFS) (555@70e <

54. A budgeting

beginning is
(1) Functional budgeting
(3) Zero-base budgeting

0 0JesE50 453 S0080 2
(1) Hog3d 2Ge30h
(3) £5°-85 aa%&oﬁ

5% 38 ws8°%)

(2) Master budgeting

(2) 596 225e30h
4) 33D e

al Office (NSO
trate within th

@RS SoBan Bl
HoIT &3GB AR08 ?

(4) None of the above
G550 Dadcsed Sood DSSor 28330805509 §°8 @

) as the
¢ Indiap

Oh

g

5
EPAAD Hera

process which demands each manager to justify his entire budget in detail from

[=]®[=]
S8 e
@eS ©EaH Eld.;;,

53. Match the following Special Economic Zone Production Units in (List-I) with their locations

(List-IT). (Common codes for English and Telugu Versions)

List — I -
a. Divi’s Laboratories Limited-Pharmaceuticals i
b. Parry Infrastructure Company-Food Processi.ng. 11
c. White Field Paper Mills Ltd.-Writing and Printing Paper ii.
d. Indian Farmers Fertilizers Co-operative Ltd. (IFFCO)- iv.

Multi Products

List — IT

. Nellore

Kovvur

Kakinada
Visakhapatnam

Bod (5B &S Sootiered &6 Soproi (o) ed &%) E0To8 (wde-I1) soond.

e -1 i
a. O S5O0 dWBE é"(j&w§e3§;5§> i
. 5B 3O 55 50p0-DE @Rvo 9 )
2 Be%?pg f:‘aLza 5):3@50 063E-Be3oh SoBak Roedoh 56 i
d. Zo&%os F5,6, 086y 5-e5:08e3d ®&3&. (IFFCO)- i,
QTOF &LYBEILO .
Codes/S*Eeo : a b c Y
(1) v 11l i '
2) v il ii XL
3) i ii iv iii
4) i ii iii iv
20

D — [1
ore  Epm
S e
S h T

D%“&)&/)&)&O

(©)
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lowing statements about non-plan expenditures of the Central Government is
he following ste

01 lht fo

9

%
hich

" }‘\“23‘“ _ypenditure 18 on interest payments

(" TI“: k}r::ndimrc is on science and technology

2 {::t ::::icndi(lll‘c is on agriculture

! Non¢ of the above

S X
«

| iy o, S (non-plan) PLie 19800 (0B (S5tsods H6 1856 9 @%@
S50 REodg0 Q03 et 5 Bl
11; S O b{ Bgog)o}: ﬁ
2) &= £ }}53 o0& eBS"&@égi
(3) & POy JHPTA0 D

)

A

I(J}
(<
D
“
&

<7, Match the following minerals (List — I) with the erstwhile districts (List — IT) where they are
predominantly available. (Common codes for English and Telugu Versions)

% Statemeng A
Statement B
) Only state
2) Only stat
(3) Both State
(4) Both stat
D&@"s&c A
;‘-3313"3?30 B

(2) wguw e

+°§90 B 55

(3) [lelaion

(4) T 3*5?5,5

List -1 List —II
a. Apatite 1. West Godavari
b. Asbestos ,11. Nellore
¢. Ball Clay ii. Visakhapatnam
d. Mica p .1v. Kadapa .
30 P00 (22D — T) &9 BEorT ©foBd I8 Bered (e - 1I) BOenoct.
S0 - | ERE b | S
: 4 535 ﬂ*“;;" I 3% Roesol
: b. e2y35 . i, Jexdo
¢ 263 iii. JTpseno
0 2oz iv. ¥es
Codes/S*Eess » a b ¢ d
(1) iii v, i iie
2) iii v il i
3) i i iii v
(4) i i iv iil

-Andhra Pradesh ranks 1% in the productivity of Oil palm in India.
- Andhra Pradesh ranks 2™ in the productivity of Mango in India.
ment A is correct
€ment B is ¢orrect
ments A and B are correct
‘ments A and B are incorrect
TEEIE esnad F5> GOmEES
OG0

(56F e30(CIHBE O°RO
X off 53208 ot eiEBsEd GoEEAs I
) TgErgso A S ”

sl
(930 BBEH

° 5 3753 5896
e

A 500 B $850

e o b >4,
T A Sobaso B 85 59

21

& esoEB8 oo 19 308 &od. C
2 5 308 &od.

©
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59. One of'the following is not the standard incentive to the industries offered by Government of Ap

60. Statement A : The Gol fiscal deficit R E for 2024-25 is 4.8% of GDP.

61.

based on the AP Industrial Policy (4.0), 2024-29.

(1) Decarbonisation subsidy up to 6%

(2) 100% stamp duty reimbursement on purchase of land and lease of land/shed/buildings
(3) Reimbursement of 100% fee charged for land conversion

(4) Maximum capital subsidy of 15% of Foreign capital investment

AP 8@ 0% Qgrso (4.0), 2024-29 (5750 o8 F°e38° D AP (580850 HOFSLO% oD ErETes
EFE

L@GGbS/J“‘go 5°50 ? [t

(1) CEHIBEIS 5D 6% 6%

(2) &7 FBoR'e $o00K0 §rd/26E/ e derp 100% o &Grrsed BOA 3Yo
(3) &7 I8¢ D DPoBES Eoi%osw 100% S8R 30D

(4) DB Soress 2eRwdS’ Hogor 15% Saredss oy

s

[=]
(=]

=]
4

Statement B : It is higher than the Fiscal Deficit B E for 2025 —2026.

(1) Statement A only is correct (2) Statement B only is correct

(3) Both Statements are correct, (4) Neither A nor B is correct

5565 A : 908 (5808 R E 2024-25 &85 &0 GDPS® 4.8%:

o
o7

=
A

E4

55 B : 30 2025 - 2026 B E &85 &°e20 ©OoTT ET%) IS,

(1) S55605 A S 9330 (2) 58 B 3@ 858
(3) Bot BT DTS (4) A 350050 B Bodis 30 5°

A person who has ultimate control over the affairs of a factory under Factories Act, 1948 is

called
(1) Occupier (2) Manager (3) Chairman (4) Managing Director
Srsbo S0, 1948 (5550 ST SySoreR @0 dakboes SN &) B380 RO° 2OOTLED ?
(1) estoxans ) 3:3e6 (3) 35 (4) 353e0f 2055
22 ©

v

gy
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(e following irrigation projects (List — 1) with the rivers on which they are located

2. M‘-‘TC,‘ 11). (Common codes for English and Telugu Versions)
LS st -1 List — 11
Somasila reservoir o -3 Cheyyeru
- otapally pl’ojeCt ,1i. Penna
l: ;l:mall\)layya project %ﬁg i.ii. Manneru
d Rallapadu = iv. Nagavali
200 D00 FFEREW (DT ~ 1) 77638 BomoBods Seso08’ (rder — 1) $02°er0l.
) e — 1 Do — 11
o FFSoBe Beogod i DogsH
b. 58@:)@7 @Dag 1. 233"&
. @ySoaty BB i, 3oy
d. oFTE iv. s
Codes/S*EGen : a b c d
(1) 1 ii i iv
2 i iv i ii
(3) . v i+ i
(4 i< iv il i

63. Which of the following statements is/are correct ?

a. India’s overall SDG score has improved to 71 in 2023.-24. Uttarakhand shares the top spot
with Kerala, both scored above India’s overall SDG score.

b. In the latest SDG India Index 2023-24, Andhra Pradesh is placed in the “Front Runner”
category.

c. Arunachal Pradesh and Meghalaya, each with scores above 75, are placed in the ?}ﬁ_\@f
“Achiever” category. Cfc=

d. In the 2023-2024 SDG Index, Lakshadweep and Ut‘t?; Pradesh scored significantly above
the national average, demonstrating notable progress compared to other states.

(1) a, b only correct (2) b, ¢ only correct
(3) ¢, d only correct (4) a, d only correct
308 5" STIO(Q) AB() ?
023-24 &° 71 & 051030, &80Pod Tows’
1 sSHo 038 30080 SDO TP IR T o6 cods a5 45 o ST
BOBIE00, DO groBBFo Book), 300 ¥ e Q0.

. @ SDG godasr 30a§) 2023-24 &, woSBE “Eoes-655" SNdS” sosendos.

5SS (B SoBOK FoureoL, a?béb‘ﬁ 75 o&3 8 :3%503 “@SE” DerKost

eoéaac;;ooo.

EEE
2]
o o

% HoH BKED SodS Keadaxs
A5 S0BA00 &80 06 e oI &3,
d. 2023-2024 SDG 50a5S> 9555 BB (BT, al

5y B Ol
TP Bwon, 567 oges ORI (2) b, ¢ SPE0 TGS

(1) a, b 37ER> ©BSI @) a, d oS 3

(3) ¢, d 3B ST ’
(C)
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64. How many Rythu Bharosa Kendralu (RBKs) has the Government of Andhr
according to Socio-Economic Survey of Andhra Pradesh 2023-24 2
(1 10778 (2) 1,104 (3) 33,120 (4) 53,580

a Pradesh egtqh:
> Cstabie
|lsht’t

K

ERE 25030 5508 935 2023-24 (95750 oGRS (8o 0 B> &S Zorocs (RBKess ) 5
e.k—\,.\~ ¢ e ) G
EES 32000 ?

(1) 10,778 (2) 1,104 3) 33,120 (4) 53,580
65. What item(s) account for the differences between GDP at factor cost and GDP at market priceg
(1) Direct taxes and subsidies (2) Direct taxes net of subsidies
(3) Indirect taxes and subsidies ¢ (4) Direct taxes and depreciation
556 =Q 3¢ GDP 50805 S35 G560 3¢5 GDP © 50655 S587570d> O eodo(ev) s 9 E}E
(1) EBSsE 3500 30005 SDyGeo (2) VEC By (BB D30 Digs
(3) 3&% B30 $o00%w HEes (4) PS5 BB SoBAKD SIS

66. According to the report on Relative Economic Performance of Indian States (1960-6]

2023-24), prepared by Economic Advisory Council to the PM, what are the individual shares of
Andhra Pradesh and Telangana in the National GDP in FY 2023-24 ?

(1) A.P.-4.7 and Telangana-4.9 (2) A.P.-4.9 and Telangana-4.7

(3) A.P--4.5 and Telangana-5.1 . (4) A.P.-5.1 and Telangana-4.5

FESSo0@ B8 B 55060 Srth DS BBE3D ISTDE 0TSy 5B oAt 65y (1960-61 it

2023-24) JIBE (5060 2023-24 395 50585 1508° erdAH FAEDSE’ e50GEHEE 50000 Boore oXe
S53KS e ToBo Jo 2

(1) esoRBE-4.7 508050 Boorres-4.9 (2) SoRBE-4.9 Sobasw Beorre-4.7
(3) woGRE-4.5 S0doko Bworres-S. 1 (4) SoEERAE-5.1 SoBa%w Beorrer-4.5

67. According to AP Industrial Policy (4.0), 2024-29 one of the following statements is not correct
with regard to MSME sector in Andhra Pradesh.

(1) AP accounts for 9 lakh registered MSMEs as on February 2024 according to Udyam data base
(2) Majority of the MSMESs are concentrated in service sector accounting for 79%
(3) There are 28 exclusive MSME parks in AP

(4) The MSME sector is contributing 33.5% of GSDP in AP

[x]

24

AP TrB@"0E oo (4.0), 2024-29 (5o S0(G5(ES° MSME Sorrd& JoeyoHoD)

WO
Eod pEeses® D& DB 5% 2 .

B
(1) &Sgdo Terdd PES°to HEsd 2024 738 AP &° 9 ofo $35°65 MSME oo Y000

(2) MSME o€ 2553 g750 (79%) HSorod® SoO5BR0 o

(3) AP & 28 @8 MSME B &TNo

(4) AP GSDP & MSME Soko ©0803 mrer 33.5%
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68. Which of the followina st
() Exchange rate ig the
of another country
(2) Adirect quote s {}
home currency
E (3) An exchange rate re
S
:
P
:

atements is False ?
- : S cu[’rency
rate at which the currency of one country exchanges for the

: ; g it of
1¢ humber of units of a foreign currency exchangeable for one uni

gime is the system by which a country manages its currency with

respect to foreign currencies

B s twe major types of ime : i hange rate and fixed
exchange rate yp exchange rate regime : floating exchang

ARE
D‘H Eob BBt Ha B3y ?
LIt

(1) S35 Sexo 083 o8 By G20, K3y 50878 So oot KBNS 53 Bew
(2) 235 5% &30 25 ares w5, BN 5703 Tdthoie DAY 50D, GBoos, CTE) o
(3) DB SN Sowotiod B¥o s BN Rr0B 3559850 SrEED Bewd T @0eTd

(4) :gzss@ St Frose® Bocs BES S5°ed 6000 : Pedoh $rEED Tead Bobukw YT SrEso

69. Assertion (A): Devaluation will lead to improvement in balance of trade.
Reason (R) : Devaluation will lead to increase in price of exports.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A)is true and (R) is false '

(4) (A) is false and (R) is true

RETED (A) 1 (5355 Do SR Tredesy H30Bov5E JoBorHESOKH TOBHR.
e0 (R) (€555 Dol S0 JHS0EL G550 DEIERL T08:308.

(1) (A) 508050 (R) Botar Jeso, 3500500 (R) &8 (A) o3ty 935 Di5eser

2) (A) 558050 (R) Bo&r Jeso, 5500 (R) &6 (A) GBoo), 93 D6 2o
(3) (A) deso 306050 (R) Sy

(4) (A) 83y 308050 (R) Q230

E:"l%
fidiE

- T0. Which of the following is not the target of AP ElectrofiiCs Manufacturing Policy (4.0), 2024-29 9
;’ (1) Increase production in the State to USP 50 Billion

| (2) Attract investments worth USD 10 Billion
; (3) First time employment creation of 5 lakhs

| (4) First time entrepreneurship creation of 2 la5
808 T3¢ 5B AP Jogd5) soeogsBoh T
(1) o°g06® &ssy@D USD 50 HIGDFS R s
(2) USD 10 DOA0S eSS ISR S S e9500

) SoFom 5 oo S0003 &6 YO
(4) ST 2 oo 5y5AHES H

khs
(4.0), 202429 oo Tt 7 EEAEH
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Dl i) To— ioh due to change i
71, The part of investment (Increase or Decrease) which takes place £¢ 1n the leve)
' : QRN
- ational income is termed as el
of national mcon '@,&\
(1) Gross investment (2) Net investment ‘
(3) Induced investment (4) Autonomous investment

eSO o0d STy e w30 Dewed ey (OGS BT Sie) D5u:

&0LTPO0 ?
(1) dFo 2eped (2) DS veRC
(3) TS 2exed (4) S5a0 EHHIG e

72. Assertion (A) : In Andhra Pradesh, the coverage of farmers under Pradhan Mantri Fasa p;-

; : : EIRE
Yojana has been increasing over the years. R

D

Reason (R) : In Andhra Pradesh, significant crop losses occurred to farmers due to extreme wea:
events in recent years including floods, droughts and cyclones.

(1) (A) is true, but (R) is false

(2) (A) is false, but (R) is true

(3) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(4) Both (A) and (R) are true and (R) is the correct explanation of (A)

TES (A) 1 SoFEBES PEEso® $96 HSr Tres §ots Bte E5ES sostEeT IR
- " R[]

SAod. ,—LEl“’\

%5890 (R) @ es0G3R85S° 56359 SoIBToE’ 56500, EoHo0 So8a%0 Sow00 063 BSTTY

RO 7G0T TBLLS MEadAFs Hoks Saken Sogdomrom.

(1) (A) deso, 5 (R) By

(2) (A) 85y, =D (R) Deso

(3) (A) 3500 (R) Bods Deso, 58 (R) &938 (A) & 535 D569 30650

() (A) 550050 (R) Botir Deso, 5080k (R) esiS0 (A) SBoo%), 58S Ds5Bes
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‘ % orthe sccolld advanced ostimates of National Statistical Office (NSO), MoSPI, GOI, what is
AP - WiIsC contribution of GVA at current prices for the year 2022-23 for Andhra Pradesh ?

2G/202

i
gk o sector

-36.19%, Industry-23.36% and Services-40.45%
73.36%, Industry-36. 19% and Services-40.45%
40.45%., Industry-23.36% and Services-36.19%
26.19%, Industry-33.36% and Services-40.45%

0 Agriculture

” Agricultm'c-
: qculture-
R Agricy

@ ,\gﬁculture—
o OGS KEFOE SO0 (NSO), MoSPI Soces S00¢5839 WOUSTO (5700 2022-23

f()@ L‘){‘D‘: B
5T s U0 38 o588 GVA & DG Borre griio dots 2 E&%E}J
) sroe-36.19% sF>-23 36% 3,005 Hi502-40.45% O

) Dég,a-ao:bo-23.36%, $BE5-36.19% $o0aI0 3500-40.45%
;55353*‘@1)0-40.45%, 5B E50-23.36% So0a50 25505-36.19%
;sésavojoo-zé. 19%, $0[E5-33.36% So0ai0 23500-40.45%

(
3)
4
Which International funding agencie
Development in Andhra Pradesh ?

(1) World Bank and IMF

(3) World Bank and JICA

SoBRBES" B80S SRR 9368 5251 & Degoed JSoETEYE
b?:ba&) 2 2

(1) @B 23°§o§) Sobasn POV R
(3) (3508 ergOsd SoBoso &S

74, s committed to fund the Amaravati Capital City Phase-1

(2) World Bank and Asian Development Bank
(4) World Bank and European Commission
N2 esoAEBONS WOBTHOD G

(2) %o ergosd $oB0%0 e @Y e5O

(4) (5508 ergoto FoOAB® CHTECHS EDDO

%, Which of the following are the major provisions of the Industrial Policy Resolution 1956 ?
L. Provision of licencing. ERE ’

Il Expansion of public sector. EE] .:

II. Emphasis on small industries.

(1) Tand II only

(3) Tand Il only
6005 D Bryso 19568 (S Deotsed 07
L. B2y0f Booy, JwotS. ERE
I Beosstor DHBEs. Eﬁa
L. 5y S0 Esoess T SgS.

(2) 1l and ITI only
(4) 1,11, 1

(1) 1550050 11 ST (2) 1130005 111 S0

(3) 100050 11 STER (4) 1,11, 111
©
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SECTION - B
SCIENCE AND TECHNOLOGY

- R
76. What is the key characteristic of black carbon that accelerates global warming ? 'E‘]}:”
(D) Teis a type o methane -
(2) 1tis a short-lived pollutant produced by incomplete combustion
(3) Itis released by CFCs

(4) It directly depletes the ozone layer

A0 o8 SE® WS

CROY™Q BFPS0 T750° &diyd Joheadhs Biensd8 srensso
(3) 38 CFCo oo o0 DaHertotiocd

(4) 30 Joor 285 s §e3osdinos

—~
ro
p—

9
197

77. BrahMos supersonic cruise missile is developed by the joint efforts of %"‘El:
(1) India and USA (2) India and Russia )
(3) India and France (4) India and Japan
B 2rSEIVE (Eroood &9 Des voakoy $H0E DR T,
(1) erE83%0 S000%0 a%0.05.0. (2) 5880 Sobass B
(3) 2rosa%o Sobatw By (4) gr888%0 S00050 &S
78. Disease transmitting vector is not a Mosquito for which disease ?
(1) Chikungunya (2) Leishmaniasis (3) Dengue (4) Malaria
Eod T3S &0 T 0 T S O DO 9
(1) DBSroTg (2) XA DD (3) @oisry (4) 38005

79. Which Organization regulates Genetically Modified Organisms (GMOs) in India ?
(1) Food Safety and Standards Authority of India (FSSAI)
(2) Genetic Engineering Appraisal Committee (GEAC)
(3) Central Pollution Control Board (CPCB)

(4) Indian Council of Agricultural Research (ICAR) _—
FEEBFOS” eiogorT S8y BodN 2D (GMOeD) O Hog AAHOBROE ? = 7S
(1) DE 2% wob Jotdy e & godasr (FSSAI) )

(2) 2R gowdooh eped £25¢3 (GEAC)

(3) S0 SPesy AaoEses So0&d (CPCB)

(4) 30GaNS TS &P wPseysS 526y (ICAR)
28
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1

" (1) Temperate deciduous forests (2) Coniferous forests
(3) Grass lands (4) Scrub jungles
s ~ ~ = . . . . S g & . - "‘- DY, VR

LG WO (GOY (DroTrE DGy Mo Dolpg W (Wromrod’ ¢y Wi

f [P . AN . oty A . A
(N DUV |\ B0 Ty WD (2) Bogrs"O Wiwpws

% R N . = s
3) A SomaLeL (4) () DD
- e

Geosynchronous Satellite Launch Vehicle (GSLV) launchers have

1. | S .
(1) One solid rocket motor stage, one carth storable liquid stage and one cryogenic stage

o e - ——
: 2G/202 ‘
e — . W
g, 17Orests that are located in mid latitude arcas between tropics and polar region Sz~
' (=175

(2) First and third stage solid rocket motors and second and fourth stages liquid rocket motors

(3) Three liquid stage motors and one solid stage motors

(4) One liquid stage motor and three solid stage motors

SBroE OR JedTeS erod IuES (GSLV) oroiisy D25 DR &oerro ?

(1) &5 300 085 3rer 5%, o8 D5 e (55 5% oA 8.8 EBreE ¥

S5 SoBAI BT 5 o 0SeS DeIEY SoBOK0 BotkS SOOI TS ¢5F (535 55

(2)
(3) ST (5 G5 DPEPEY S0 & P03 ¢85 Iresresy
h (4) 8 (B3 5F Ierdo JoBak S0 Pod EF S¢S
82. Match the gollution type with its major source. (Common codes for English & Telugu Versions)
Pollution Type Major Source
a. Air Pollution _E:@\ . L. Sewage
b. Wgter Pollgtion & [ II. Industrial emissions
¢ Sm} Pollutlop 1. Use of chemical fertilizers
d. Noise Pollution ' IV. Construction activities
seddy 55°Q) T PEES Sarees 90 eyed.
SPesyg B850 (P oo
a. TP SeVBEO L. S0080% DS (35)
b. &3 seudgo II. FOFWS aIporen
c. B0 Tt L SaHs doDe TeEso G
d. ¥ sPeogo IV. doyes s°8sSoraren El?‘:':;
Codes/S*&en : a b ¢ d
(1 I 11 I\Y 111
(2) 11 I, 1 1\Y
(3) I 11 [11 Iv.

) v o1 1 I

83. How many core missions are included in India’s National Action Plan on Climate Change (NAPCC) 2

(1 s ) 8 , (3 12, @) 10
TS5 ST GTOERS AL SO Herds (NAPCC) & IR B DATRIe ()
Syeaczons ? ' ®
(1) 5 (2) 8 (3) 12 @) 10
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R4, I™ ‘,‘uHIn‘ll o

{ |

0y
{

3)
(

(

(1)

(AT (otal num

1 he numMm

Lo s penerally expressed as
L}
ber of individuals in a population

por of mdividuals per unit area

I he peographic distribution of the population

=N

oL « \;J‘c:rvc."\’ RO

GO IR IR S sl\:k:\:_;: \ J\/ \.4... ?45

(S

;1 he number o individuals within a sample area

‘n E‘.Qf ) LICA000)
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v

h

R i
(:) LA D (O \.«\) \\J \Jb_,_,\_) ‘Qh"p;s
(‘\) LTET \L\)JQ Jﬁcv)o 2O« ‘f‘%

(4) SV @ JPoBoG’ D) roé,:oc, (VOQJPS

- What is the primary environmental concern associated with Genetically Modified (GM) crops 9

(1) Cross-pollination with non-GM crops ~ (2) Reduced pesticide use

(3) Increased yield (4) Soil degradation

EBogRTOT B578y ToBS (GM) Soesws $ow0odS @PEaos Rleylelag) es08 S Doe3 ?
(2) DSIOB0E0 TEEO Siiio

(4) 3o i

(1) GM =) Jowes $5-soHsost)e
(3) BRoS 1Ko

86. Match List— I with List — IT and choose the correct answer using the codes given below. (Common

codes for English and Telugu Versions)
List — I (Biotic factor) List — I (Characteristic feature)

a. Humans EIE_EJ I. Recycling nutrients
b. Saprotrophs O II. Top order heterotrophs in food chain
c. Reptiles . I Less urinating animal _

d. Camel , IV. Stenothermal
erar — 1 & erdoe — 11 &0 0Dy Bots ooty Fese &3@ErNol $TH BITT TRy Joosod.
2D — 1 (223035 Fg50) e — I (%) o¥es0)

a. SoPSHed ERE i 3’50.35"0«60 & §oﬁ Do
b. B’y El%;'.; II. es5585 ﬁ"oo(ooese T 686 BE 5 Hew
c. 0%yoreo (Reptiles) I11. e‘§§.>b;5 oo YD 3‘0 200D
d. 2o IV. 3T855
Codes/S°Ges : a b c d
() IV I I 1
@) I L. s IV
3) AL I 1A I,

4) v III 11 I
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fe i
onal Gireen Tribung|
§7. N ghend (NGT) AN established 1o
1) Monitor industrial Pollutigy, levels
(,) [ nforee emission gy. andards 1, vehicl
C
) Handle eases related 4 u“"m"‘\u . 'lw
(4) Regulate water quality iy, rivers R proteetion and pollution control
‘\: i\\) \“’“\‘\‘\‘ 5 (N(' I ) \JU \)\
t” SOTRE Sy Py “O538osto
() TITER &GS BT, BIow Batto
U:
,) L0 \Q\‘)F\ \50&{‘1 .\.\)a\m\) gt\}m\s “)U:)JOL@??SO s
(_‘n \)\:\,\,\.« \\ats) U“mba\ﬁ\) ‘O%OL@ObQO (\DOQOQOLJ&) SO JO uZ’OObJqu
g8, India’s National Action pg, on Climate Change (NAPCC) aims to address S
(1) Only greenhouse 84S emissjopg Efg":’m
2) Mitigation and ad i
(2) . g . aptation Strategies fo, climate change
(3) Biodiversity conservation
(4) Air pollution contrg|
TTIE ST rSEENo DY, o
Seod LEO Sopstes 5em9s (NAPCC) He3d S0ZBoseso oo
IE!'“E]
(1) AT 0% SR SresSo B
(2) T8 33800 o e 00 @358 e
(3) 2532655 508%es
(4) Trasw SPR05g Ao es
8. The terms ‘Petya’ and “WannaCry” are related to
; (1) Mobile apps (2) Ransomware (3) Virtual reality (4) Mini Satellites
2T S0 ‘TN T ¢ Soren B2 KowoBolse,
d AR
(I) InBS esBew  (2) 535536 (3) S6n36 8D (4) 20 Je3Be5y
%. Subject that is not associated with Ayushman Bharat Digital Mission .E':,],E_@
. E .--.
(1) Arogya Mitra (2) Health ID -
[ (3) Sand Box (4) Healthcare Professionals Registry
| BATS PSS Ge2erd WSS Howotio R Mo
! (1) 8% 05 (2) &85 ID S
() ok ?J"EQ 4) @5‘?15 RDoYge e 828
| 31 ©
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Y. \LA¢ s w e T schnique ? FERE]
i ; : an example of a bioremediation technique 7 [=]7
o1, Which of the followmg is NOT an exampl | ""':f;.z;—'_:
C]Fgets

92.

(1) Ol spill clean-up using bacteria

() Using plants to absorb pollutants

(3) Buming contaminated soil

(4) Composting organic waste

108 736" DO BIBAEAN0 HPAS &oIrO 5o 7

(S0 IO

P

(1) el é&sdirio Dodd BX080N HDEIBCEEo
(2) e 5TO5TER ToNolerdd Koo &9a3rRoWUCo

(3) Sw.'l‘@%fb o.,pgi) SON@ S

(4) Sodas SgTess Koy Jowo

How does In-situ bioremediation differ from ex-situ bioremediation ?

(1) Itis more expensive and involves transport of contaminants

(2) It treats contaminated material directly at the site

(3) It uses chemicals instead of micro-organisms

(4) It requires more excavation ERE
39— WATTEARS, Hy—Pe ATTNGADBE S0l OO @ €0e0d ? E”?g___
(1) 38 Tor PEBIB So0ck SedhEre STreross SOA &otod -
(2) 20 I (HBEI0 (L) 56 ELoLBROS ST KRB0

(3) 30 ITERIHOK LI FIAT O &SABTAD00

(4) B3 50008 B:55¥0 eSS0

93. Which of the following countries is/are legally bound by the emissions reduction targets set by
the Paris Agreement ?
(1) United States and China (2) India
(3) European Union (4) None of these
TR 23050 THg0° AFFOBREN &ROe SACD oFT5e%H @od 378 DE(D) Segerciore exexd
€08 (&amyo0) ? CIl0
(1) a203EE He5y 3850 D (2) gr583%0 =
(3) AHTE’HADHS AHTVOKS (4) De38* O 8

94. India has the largest installed wind power capacity in the world.
(1) Fourth (2) Second (3) Eighth . (4) Sixth
BBoS0EBer grosBio  e® DG LDoBwdS 53980 SOA &od.
(1) reors (2) Boss (3) VDS (4) esss
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107. S . . , TR e ali
7. Statement A : Natality refers (o the birth of individuals ina population. f
Statement B : Natality rate is expressed as the number of individuals produced per female per
unit time, —Eggl
[=]
(1) Both statements A and B are true
b -
(2) Both statements A and B are false
(3) Statement A is true, but statement B is false
(1) Statement A is false, but statement B is true
TOGARENO A B0 GE wrere® S50 DS B DR0.

. < S 5 0 R
Tgrge B eus adaomded Hsoakod’ ol sg So0ch GBYD Sameds S550 SoP§T s Bt El‘?u“@

S350 smEatuod. e
(1) T TGP0 A SoBaio B :6?_:61)

(2) Boko Trgyrgaren A So0aio B 83y

(3) TgargSo A NON8, W Tgrgo B $y

(4) Tsesso A 8%y, SR TgaTgo B ¥838

108. The “ozone hole” is primarily caused by the release of
(1) Carbon dioxide (2) Chlorofluorocarbons (CFCs)

(3) Nitrous oxide (4) Methane
“55°8 So|30” Bersort 8 AEIEO I TS0 ?
(1) °G)S GaArSG (2) §6E sgdes (CFCe0)
(3) SRS TG 4) 8S
109. Which of these is not a biodegradable waste ?
(1) Vegetable peels  (2) Fruits (3) Wool (4) Tin
538" 08 erfooirs $3oREY (aBrdftend) Sjgo s°6b 2
(1) SFowad &g (2) S0 (3) &) (4) 8550 (¢35)
110. The concept of sustainable development was first popularized by which report ? :EIQ!%@
(1) UNDP Report 1992 (2) World Bank Report 1985 e

(3) Brundtland Commission Report 1987 (4) Rio Declaration 1992
038 DY FTSS J0t5e IO THo> Friodze Fodod ?

(1) UNDP 2385 1992 (2) ©R0 ergoH IO 1985
(3) @oeSersols EWBS V30K 1987 (4) B3> &53:5S 1992
36 ©)




2G/202

ﬁ‘}: o ol the following 1s NO'T an alternatiy
" h“('rccn technology
1

( Carbon capture and storage

1 3

¢ to conventional pollution control methods ? EIE=]

: L 0 ST
(2) Bioremediation E’]?‘;z
(4) Incineration of waste

P

(0

365 DO TrOERTIOID PO DOKIOEES S56< 3 n ot >
o 3G OB TORETER SO0 dchooe ijissnts argsmycie S ?
S ¥ 3

\ e
n ,8\.5 Q‘)ST:.\\LLU
; o 3oDA0 Do

(2) 22335°8EGI330

-
Q) S (4) SsToss sPoyio

What is the “dual burden” India faces in public health ?

{04 0 Rising rates of both infectious and non-

communicable diseases
) Overburdened doctors and healthcare infrastructure

3) Lack of insurance and financial access

(4) High rates of both obesity and malnutrition

Wsﬁmgoés 2T SBT¥0 DT 0288 “tS508s 580" DRed ?

(1) @0t 3200 DOEQOTR (FT-83xr5R8end) agtson oM BeR
(2) OO g0 &) S50 BBy LB HotkEr STOE SEHFATTeo

(3) DS 30000 &BY wotheren (AIFSS) S¥dseo

(4) &mseasbo 3000 TFPHEIFS E'ido Bodod ooy, wd St

105. Which technology can reduce the environmental impact of traditional farming, especially in water

scarce regions ? 5mE
(1) Drip irrigation ;{5;;:5

(2) Chemical pesticides
(3) Flood irrigation

(4) Monocropping
BOgS0ER0R FPOREPO% S0 G308, (erard), (Spsore 3 T6E &) @rored’) Shosie
FOSHES O 2

(1) o> 'EC’OCS?SO

(2) BIPAHS HBoKS0EI

(3) 55 QeITotse

(4) Der 28 Doeaso 2.8 TS’ Hokoisoed BrSEenoh)

! 106. Which of the following is the primary goal of India’s “Municipal Solid Waste Management and

' Handling Rules, 2000 ?

} (1) Promoting waste segregation

' (3) Reducing waste recycling
PESBH0 Bonth “SaDdv5S FOE DY BodERo0e5 500050 F50G0R E6y, 20007 Bool, @°SJ08 0% 50
8od 636" H8 7 3 Qiel)
3) ;5505 o 19355 DIBTTY (5?2%0&) éfr}o{.’) o) §OCPY EPyerotcio

(2) Increasing waste generation
(4) Supporting landfilling

35 ©
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100. What is a global issue associated with the trans-bound

101.

102.

(1) Reduction in greenhouse gas emissions
(2) Sustainable waste management

. - ~ & . o "1 RS ayY
(3) Physical transfer of hazardous waste for reprocessing of storage

(4) Elimination of deforestation and desertification

i . 9 .
K oo SR o OO NG . NI T g “qah v M3e) ?
IgT O JOTE o SSDODE Bo0GCh €edy (DDOD QDI VIOREN I

(1) ASTTDH Ta» dYsee SRoD

(2) RTINS IgTe ATgTe?
- B -

2G/202

g 7
ary movement of waste -

(3) BS ok Bor Doy Fio EITFEITH S5 & OsT 000 Sabéo

(4) e TES0 $5B0I0 IEBEGEI0 AETYOR

Which of the following methods is used for solid waste disposal in urban area

(1) Composting
(2) Incineration
(3) Landfilling

(4) All the above

EREE
s of India ? a?\;".

oM

P SSBHED Heges romd’ 308 SyTe FTEI06E (E25y6) Gob TE &SRO SGO

/2D ?

(1) SodYoh (STrgsoess K AP Sirdo Booed)
(2) &5°S0

3) @505?,)@05 (S50 Kootrod JrEyEo)

(4) 25

Assertion (A) : Grazing food chain begins with dead leaves via herbivores to carnivores. [=]&[s]

Reason (R) : In grazing food chain autotrophs capture energy and transfer to herbivores. ﬁ?‘:v

(1) (A) and (R) are correct and (R) is the correct explanation of (A)

(2) (A)and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct

FES (A) : Bods 5558 oo (Boh HE BS) SV 308 (PSoLDo FTLHEO 500

SFOTIE G0 DE08.

5890 (R) : 3085 55358 Mok’ st (€5°po0 #8R Do(1errod Fs 5 Eoetd 2280 Jraw. ;E]"*lg.

(1) (A) 508050 (R) $352 300052 (A) § (R) 838 Desen
(2) (A) 308050 (R) 883D 5 (A) & (R) 8BS D56ed °¢8
(3) (A)%B50 5 (R) SB35 5760
(4) (A) ¥BSO 5 5% (R) 5856
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e
&)\\ pat is the primary pog)

0 promote coal-based
o) Promote renewable
&5 [nerease consumption of
0 Improve forest consery

o Ingdiy
a’s Nati y A By
- ational Clean linergy Fund (NCEF) 7
Chen. ENCration V
CTRY technglg
Tossil fyelg
ation practic
o p R lacticeg
<35 0 45 238 « e
=8 SO0 3 O5Q P& (NCEF) e
55 S0 :DC')JSLFG g 8}, P08 0%50 DDoe3 ?

. ; @&y
(2) VTGS 3055 Fody g@emag;éf i
e B Rromsto [H0ao S earoross SROHEC
™ Dosto =0

D008 B
2E? VFB0[ DRSS S0

ey si g
gles and reduce carbon emissions

_ Which International Agreemen
climate change ?
(1) Montreal Protocol

(3) Paris Agreement

does not focus on reducing greenhouse gas emissions to combat

(2) Kyoto Protocol
(4) Basel Convention

5 goSTHAH &5oto Tee -
> A D0ed B7E0080 ST RS ASTTE Tabo e Sfodtito S

25035830 ? R
& 3 s, o
. How many Sustainable Development Goals (SDGs) has the United Nations established ?
(1 17 (2) 10 (3) 12 (4) 20
% egR8 D) HPS WP oo (Fsed GIedBoe 'Sy (SDGev) Doyt Bod ?
i (2) 10 T3 12 4) 20

. CITES (Convention on International Trade in Endangered Species of Wild Fauna and Flora) is

also known as
(1) Geneva Convention

(3) Washington Convention
CITES 9 (e9085000F805) 230800 So0AD
(e od)
; @) S5 PSS
(1) 2D D57I%0 <
B 2solo
(3) F0le 33 S¥o ) Bty

(2) Kyoto Protocol
(4) Paris Agreement

58 epdions’ woBgBaH Tedesso D HET0) 3 G

ofan cnvironmentally friendly technology used in agriculture ?

. Which of the following is an example (2) Organic farming
g) Gengt?cally mo.diﬁed crops (4) Chemical fertilizers —
3 ) Pesticide spraymgrs T oo FEDESLH DB errirde ? ﬁ;z

(1) exsiogssone 53769 308 S0t (4) BT AP0
(©)

(3) Drsso0tie DS 6 13
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124, Match the List

I with List

2G/20

(C . . .
ommon codes for English and Telugu Versions)

List — |

Type of Solid Waste Management

a. Incineration (=]

b. l’}"r()|_\"sis

[g]

d. Composting

-7 P -~
T -18 ez -1l

a- .J J‘J

Codes/5*Ges
(1)
(2)
(3)
(4)

125.
(1) Phytoremediation
(3) Bioventing
3553083
(1) 3E5TUACE5

(3) wBrRoedch

JIE]
fg=

Plasma gasification

o .
(JJ

a
vV
i

IT-

1A%

o PSP v \ 2
208563405 ’6.;.8 uOJ«C"u S0 Wl

List =1

Function -
te to C based fuels
1. Conversion of recyclable waste to carbon S

_ 1. Process of burning waste
g waste 1o extremely high temperature. -

111, Exposin
rganic waste biologically

JV. Process of decaying ©
SoissE'ek.

i évxyd-j;ﬂ,/w »,Ju DETET " ta;
T

A
[I. S5eGwiss =75 (IS0

I S5ooids wdsls & NEs r-6aaktio
IV, 5oifsass gt oaEioer dedosDe (HBAD
b c d
11 [ I
I 111 v
m. 1 IV
11 I [

Which of the following bioremediation techniques is used to treat oil spills ?

(2) Bioaugmentation

(4) Mycoremediation

& £ ( 2 =nrl? S s f oo oo _ER.E
¢ &' ©@FBIEGITHE BGHY &SBIRTE> ? o
o

(2) ©BFeROBSS
(4) 3ETAREE
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o ich of the following is a potential tipping point of global climate change 7
\Whie

L 1) Loss of Arctic ice (2) Reduction in CO, emissions
(;) Inereased deforestation (4) Decrecase in solar radiation
:\.3 $638° ERSON TTEH0E 33780y (’z"faaé E‘&"o& Do) Gk, @3?.2)05 Droas0ts D6 7
(—;) cﬁs\dﬁg D000 90 (2) CO, e BHodD |
(3) DOAD el DTS (4) 5 D3Berd” G
i
(21. The mission of the Ministry of New and Renewable Energy (MNRE.,)'is fE] i
a. Energy Security v d. Energy affordability 7
b. Increase in the share of clean power) e. Energy equity J
c. Energy availability and access |
(1) Only a,band d (2) Onlya,c,dande .
(3) All of the above | (4) None of the above

£ 300052 HSETHSE 30855 S00@s 77 (MNRE) B8, 0850
a. 48 g% d. 8 50
b. %) (§8) 336 Terd’ 28OS Eé!._ = e #8 BBBB0
c. ¥ 0 So001L oeren

]

(1) a, bodosn d S0 (2) a, ¢, d S3o80%0 e ST
(3) 232 (4) 23D 5D
122. Project that is not associated with International Solar Alliance (ISA).
(1) TTEC (2) ISTARC (3) OSOWOG (4) KUSUM
30L0)356 Ferd ey (ISA) & Sowotso B B
(1) ITEC (2) ISTARC (3) OSOWOG (4) KUSUM

123. What was the primary purpose of the Air (Prevention and Control of Pollution) Act, 1981 ?

(1) Control air quality standards (2) Regulate vehicle emissions
(3) Promote renewable energy sources (4) Reduce use of chemical fertilisers
TR (Sesdy Dardes So00K AAHOEGE) D630, 1981 G3o0%), @E08 egFo DAses 2 ;QE:—.[E-‘
(1) =& Treagh (HXTET O Daho@ostio (2) S &roresy Dobo®oseo ?‘:“
(3) D36mmes% oS St @PEyrosco (4) SADS AP TeEEo BRosEo

39 (©)




% 2G20,

115. What is the primary source of air pollution in Indian cities ?
(1) Industrial emissions (2) Agricultural practices
(3) Residential waste burning (4) Automobile emissions
eSO $ROG, A SealgId PGS SoTeo 595¢3 7
(1) FOF Y GrRO (2) STt B3
(3) AT TN SONele (4) 5o (@méé) SO
116. Which of the following chemicals was released in the Bhopal disaster of 1984 ?

(1) Chlorine (2) Methyl-Isocyanate (MIC)

(3) Ammonia (4) Hydrogen Sulphide
2 Q0B SFanTed 1984 & SIS DS’ Dot oSO 58 2
(1) §68 2) 236 2dF2e5 (MIC)
(3) eBPAALP 4) &S $8YG
117. Which of the following is not one of the three pillars of sustainability ?
(1) Environmental sustainability (2) Economic sustainability
(3) Social sustainability (4) Political sustainability
308 36" DB KPS SBook), S Kogros” 183 576 ?
(1) Sogsdes Soxds (2) Q8 Sbrslely
(3) FIPES PSS (4) crexdah BoRsS
EIEE
118. What is the primary application of bioremediation ? S§:
(1) Air pollution (2) Soil contamination
(3) Noise pollution (4) Waterborne diseases
DETFBIAEHES Boof, @ IBrKe B8 ?
(1) =ro%o sPendso (2) Jo SP0350
(3) ¥y S0 - (4) A3 o° 33y Feoeo
119. CR in IUCN red list refers to EI ;’
(1) Extinct in the wild (2) Critically extinct
(3) Endangered (4) Critically endangered
IUCN 280 e®2°8° CR 3R 370008 2
(1) edS® @osdoNFood (2) BeIsdrr eos80DIFon0d
(3) eaoé’s&o&);ﬁ‘&)a‘gow @) & B35S0 dod
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11

112.

113.

114,

2G:/202
g is the main advantage of organic farming over conventional farming ? [-EI};.EI
What # -
1 Inereased pesticide use %
(

) Higher crop yiclds in all conditions

) Reduced chemical input and improved soil health

4) Increased greenhouse gas emissions

3o S50 ¥ol3 Do SySrao k), EEmS Earese D23 ? %%‘Eﬂ
s

(1) DBNB0E T DS

(2) o) $0BeS” VR Sots Bed

(3) BRroXsS TEEo Sfero Sod0kn o ebigo 0TI

(4) SR Ao &mroren WMo

Biogeochemical cycle in which the main reservoir is not the soil

(1) Sulphur cycle (2) Nitrogen cycle (3) Phosphorous cycle (4) Calcium cycle
D aArREIEIES SEos’ Do (IS BecreHs S 2 |

(1) Deyd o (2) JeSeS SEo (3) gmdgto SEo (4) s°Qcko SEo

What is a key goal of sustainable development ?

(I) Economic growth with no concern for environmental impacts

(2) Ensuring social equity, economic growth and environmental protection

(3) Limiting global population growth

(4) Promoting environmental conservation over all else

R0 D3y oy, St ego OD0e3 ? %&@5
(1) SorgsSes Earare H8 Jeroed $eoDB eBE 5B

(2) PEFEE SSTSB0, ST 5B S80I JoFIE DOSFED HE

(3) (5503 esarer BEMSOS BOWBO Bako

(4) ©Dye35083 HomgstEs $O8EE @& yrosto

State that produces highest solid waste in India
(1) Maharashtra (2) Andhra Pradesh  (3) Uttar Pradesh (4) West Bengal
PEESHS gl $oi S G 35 O°Fo
(1) Sosborss (2) esoEsEBs (3) &ES O3 (4) 38yS0 Borres

37 (©)



ﬁ pList 1 with List - 11 angd choose

: ; T w. (C¢ on
ke ottt and T : the correct answer using the codes given belo .(Comm
« for English and Telugy Versions

‘ 1715
List — 1 (Solar Park) - . o ;:;.g,—;:«'
 pivbrid Solar Wind Park Ry, List — 11 (Capacity in MW) s

agirj Ll
1‘~. Ananthapuram-I Solar Park L 00

2G/202

‘ 1.
_ Kurnool Solar Park [ :280
:1. ypanthapuram-11 Solar Payk IV' ‘SE)O
rr I DT — 11 & 30 Fena® <an o 5 "
o 1 R S © POY06 300k Socs J)y E G0 dddrhod S8 07T ),
AAn0S O ‘

Do — 1 (%6 >5) .
o200 TOE b 306 >, =0 - I Rorearey® FioYso) 7]

b, sooSe-1 Ferb 6, Y =z
¢, somes T8 3§ 1L 1500
d. &53:‘1‘5@50-11 235035 3"52, lV. 500
Codes/S*Ee : a b ¢ d
(D Il VU \V/ I
(2) I I m gy
(3) Vo1 I
(4) I 111 I v
7. Which of the following is true about the “Circular Economy” ?
(1) It focuses on reducing the use of fossil fuels
(2) It promotes the reuse, recycling and repair of materials to reduce waste
(3) It encourages linear economic growth
(4) 1t focuses exclusively on reducing carbon emissions =&

5570 @08 I (380, 508 I5752) KooBod 2o Te3S° HB Deso ? [

(1) 30 3072 goGmre DTy BROBEOD v B0

(2) 30 ST SROIEAE STrge HIE T¢E¥o, HIBRBKo (8280R) 3800 B85y HO8
@Ge‘_’e&ir‘cﬁ_opo&

(3) 90 ¥ B (DADE) €588 3B 5y Pei5000

(4) 30 TS GERoress BRoBEODS EBEOMT G 000

b

8. Which of the following government initiatives aims to control industrial emissions in India T
(1) Swachh Bharat Mission
(2) National Clean Air Programme (NCAP)
(3) Pradhan Mantri Ujjwala Yojana
(4) Atal Mission for Rejuvenation and Urban Transformation (AMRUT)
TEE505™ 55 8o RASEN g°6§l_§&’lj°®(’56 DO FOFWE &Ce AOHo@oSEDS &QBoScod ?
(1) %59) 67658 2055
2) 3256 &5 dowob @S0 (NCAP)
G) BES3o0@ desge @red
) Dstssgdisso ss0aso Beges 303G S0 08 5 (5y5)
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129. ¢ :mosc the correet statement. laiik
(1) Producers in an aquatic ecosystem are green plants
s inan aque Sy PO shemieal @ yunds
(2) Archea arc a type of producers who use energy from LII\L,I]\I(.dI compot
(3) Consumers are heterotrophs able to produce their oo

o~ Tis ! ; s mR[=
(4) The stability of ecosystem depends on consumers . ;_.1,:ng.;£~1'
VO (DBLIN doS od. Clcs:

(D V3 ROTgHOeR :35‘3:8“'3{ (CECRINRR SRS S B Gowd D
(2) SOOI B3O SJrA HAPFT Sooch B cf.:omngg 28 OB CliyDTT o)
(3) ABrHTEoes S50 eRFTRy csyd Jamro 25636" 592

(4) Do Sy Gho%, YO0 IIFNEEOD LG T 02008

130. What can be considered a natural source of air pollution ? .
(1) Factory emissions (2) Power station smokc
(3) Forest fires (4) Automobile emissions
SPA0 SPOVREO GInY), DR H$0P0 &) B @855y ? . /
(1) 56 dsges (2) 336 50 N
(3) @ Sootren (4) TS eroed
131. Match the following : (Common codes for English & Telugu Versions)
Waste Type Appropriate Disposal Method
a. Organic Waste [. Incineration
b. E-\gvaste . Elrﬂﬁ 1. Composting
c. Hazardous Waste Eis [1I. Landfilling
d. Broken glass pieces . IV. Recycling
358 Oy T $BS oo (disposal) K)Cé@ée DO 0.
558 5% Fonod (Ghyed) B8
a. dodab Sgren I &m0 I
b. -3 I1. SorgSoooss oy JE0H BT [
Baooes (SoYoh) )
C. BITEES Sgreo I Sgreso Kotwd” eeyto (ersobadoh)
d. BABS rrer Sookeo IV. 236 @Ko (5230h)
Codes/S*Een : a b c d
(1) Im. 1Iv, 1 111,
2) v 11 11 |
(3) L TVe OL. I,
4) v I 1 1
132. Ayushman Bharat primarily aims to provide healthcare coverage to which group ?
(1) Urban middle-class families
(2) Rural and poor populations
(3) Senior citizens
(4) Private healthcare providers
501D 7SS EATore I SRS e HOSEERL WoBOBEC VXN 2eEEE ?
(1) Sé3e S50¢5-BEHE Kotnoera °
(2) e S0BOK S 2T
(3) SArsyEoe (WIAHE Belesiso)
(4) BE0B58 Somogio 8D &by BoUEE Hrrdes (P35 EE6 @Bes)
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ﬁ\cscrﬁ"" (A) 2 CFCs are 2 JV

(33 Jiation on cm"lh. reenhouge gases thal contribute to climate change and increase |
"{(.;.snn (R) : ( hlorofluorge

U conditioners and acrogg)
(A) and (R) are corpegy

2 (A) and (R) are corpegy

1) (A) is correct but (R) g

1) (A)is not correct bug (R

()75 (=)

nl'hnl]x N R . . i .
(CECs) are man made gases used in refrigerators, Lo
- 4 |

Spraysg,
and (R) g
but (R) i
NOt corregy
A) : CFCeoo ASses ! Sy
ﬁ\p iif»qu ’Uotugngiym@m ) TTH55e BrCoyets 6550 D03 S0 G5 7

L eorreet explanation of (A)
ihe correct explanation of (A)

(NS5, F S ol

ol R:§66€@55€svc5(3 " -
] Dl"‘o ( ) ] © z) Q0 (CFCQD) 6(@88@(’*‘2, ODOJJS 50&,33{./)6;‘)) :./DGO:SJO DERPE :.“»’,\,“"/:/

LedrNoD SIBS BB T Aaomess,

o< A
(2) (A) 290050 (R) 5359 8 (4) 2
(3) (A) 9358 50 (R) RTS8 sk
@) (A) V358 s°¢%o = (R) 5050

ion (A) : National Biofy e lus food
4, Assertion ( : 10fuel Coordinat : ove use of surplus
R grains for production of ethano] for b]endiiéown ig]o;rértrrl;tltee e T

Reason (R) : Farmers are at rigk : - ; i duce during the
surplus production phase. °f not getting appropriate price for their produ EifE

R

- -

(1) (A) and (R) are correct and (R) is the correct explanation of (A)

2) (A) and (R) are correct byt (R) is not ¢t ! FA [
E3) (A) is correct but (R) is not co)rrecl:0 ne correct explanation of (A)

(4) (A) is not correct but (R) is correct

FE3 (A) : DS 0E 052 3 &5 b &% rrrge BT erdol &5 3065

53035500 52063 SRFBoT.

s6e30 (R) : 01ben &8 585" Boo 85 eithet: 565 56 oosd BHErEo &b,

(1) (A) 55605 (R) 333 50005 (A) & (R) 33535 istsen

(2) (A) 500050 (R) 985D 50 (A) § (R) 9335 D5t 55>

(3) (A) 5838 52 (R) OO S

(4) (A) 3356 260 59 (R) ©8:58 _—
135. Which global summit led to the adoption of the “Agenda 21 and the “Rio Declaration” ? ;‘_‘

(I) Kyoto Protocol (2) Earth Summit 1992 B

(3) UN Climate Change Conference 2015 (4) World Health Assembly 2000
D (%05 3o BSTHFo (Frexd $52¢5) “eBor (ST5ES> 2638) 217 SoBakn “Boe GET5S”
(O (558355 93°B0SEIE TrodDd ?
(1) €55 @eSPsd (2) 6 $20¢5 1992
() UN 53065 S0z 575,35, 2015 (4) 558 3G e08) 2000
%. Pollutant produced by vehicles that reduces the Oxygen carrying capacity of Blood
e (2) Carbon dioxide (3) Nitrogen oxides  (4) Carbon monoxide
%0 BE0 A0, 9:9%23(5 SRR @“&G&gf\)& BAKOD 9
() DS eBhy (4 sgSAroE

43 (©)

(1) Sulphur gas
TTO o &8\@ Daberds O 70y
1) % o Tans  (2) ol c$0‘55°§35

d

[

— &

.




% 2(1/2(]2

137.

138.

139.

140.

Auton s insti T
(1) C(:‘:]:(?“I“ mstitute under the Department of Biotechnology (DBT)
2) C~‘ l-d I_"ood Technological Rescarch Institute
(S) CL:HII.III Glass Ceramic Rescarch Institute
@ wumc l‘m' Innovative and Applicd Bioprocessing
{ FLLnlrc for Cellular and Molecular Biology
& £ = .
Q003 ¢ w@BrEsyed (DBT) Bots iaibo (998 1o 99
(1) Ddowsd & 3smy0esd Eu6y goneaTses

° TS
(2) oS 7S ook &6y gogearsed

©

(3) 20t 96 3Ty3ed5 wol el B oh
(4) 2038 36 Deogerd wob BrdKxeb o
Match List - I with List - 11 and choose the correct answer using
codes for English and Telugu Versions)

E] “[n]
AT B s ) [f
(C’/GJ "D s G Id ,JJJ) At O

(3] >

the codes given below. (Commgy,

List — I (Pollution) List — I (Pollutant)
g. 11\3/2?):1[116 C%nceq L Tltld'ctl?alnc
c. Greena%gluszaet:l{’(f):ct, [_EIE_I_EI lll: SJTpI?ur dioxide and nitrogen dioxide
d. Lungcancer - Dies " IV..Chlorohydrocarbons
2rDer — 1 & erder — 11 5 3090 Bots oy S &ddirhod 809 SSTErRy JosoS el
o — I (sPe0io) e — 11 (TPeod °U50)
a. 553"5\)‘,395 S"s&’bs I. D086
b. 2BrErAESS Il 936 B
c. (S S werso L 50y5 GorZ)E 550000 DeTess EaTZ)ee
d. 28880 S350 IV. £672rE" 88
Codes/S%&en : a b c d

(D . 1v B i
(2) 11 | v I
(3) m- m. I, 1V
(4) v I I I

Which of the following public health campaigns was launched to improve sanitation in India ?
(1) Swachh Bharat Abhiyan

(2) Pradhan Mantri Jan Arogya Yojana

(3) National Tuberculosis Elimination Program

(4) Mission Indradhanush Qﬁ@

erE5B06" 8od T3 O (HerBKy (BT0TR) DDA BENOVESEVE (FrSodomts 7 ik
(1) g S eBASrd : il e e o
(2) B Boo® a5 esbiig Boresss
(3) edAD Hob TN S°CES0
(4) 05D 05BN,
Anganwadi worker is a functionary of which scheme ?
(1) ANM (2) MMU (3) ICDS (4) NHM
WONST e SSEEE H020RONS B0 OO 9
(1) ANM (2) MMU (3) ICDS (4) NHM
44 ©
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1 Rc:lsﬂl; tlm.llhc '"c_“'"ll of Gangothri glaciers of Himalayas
Global warming : O
(!; Particulated dl:l (2) Chloroflourocarbons
L == . . (4) Green house gases
FATOATO0 W AON (@ ST Rsaren SOAI N8 sdtvo
RN FINA A (-J:n"p & = vo o R
(1) ERow T"ee (N 20 T"OyeN) O EE I eE e pe
3) 3*33,5365 Sodoss (2) 2?*’5:“ Gy33
: & < (4) 0 ST TAPL
Match the Ioll.owmg : (Common codes for English & Telugu Versions)
Waste Disposal Method Pros/Cons
S Hline ' . '
? ' ;‘ a;:g;;::l; [,-EIE_E I Low-cost, but has long-term environmental impact
b, In B ORY : :
fk‘"‘: Il Reduces volume of waste, but emits pollutants

c. Composting L. Produces useful by-products like biogas, but requires land

d. Recyclmsg IV." Conserves resources, but needs infrastructure
Lo DEIS SEB T ereren For

SLo8 $oFeyod.
3*’0’50&: i&@‘gaé) et rerenlisdpes
2. T5eGE90R L o593 66, 50 Bysds o750 (Hera) SO &otood
b. &S0 L. Sy $05rerD) $AKI08, 50 Sooky TSR 2600
- 35008
2 o~ Res ~
c. SoFRoh =on L 2@ Sotd &sErrscRss esesies: &g 33908,
e R 2 e5380
d. 5&%05 IV. 3380055 80585508, 570 ST08 SEoTraires 5000
Codes/S*Ges : a b " d

(1) I v 1 [1

(2) [AVARN | SR 1) P |

(3) I 1) S 1 P A VA

4) IV II | 11

Assertion (A) : DHRUVA is India’s largest nuclear research reactor.

Reason (R) : Advanced Heavy Water Reactor envisages large scale utilization of plutonium bearing
spent fuel.

(1) (A) and (R) are correct and (R) is the correct explanation of (A)

(2) (A)and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

55 (A) : DHRUVA o536 erosdis od 26 vt 308¢s datrss.

S0 (R) : extiomesss 2320 3766 505056 IeSRaho &y Sy B 30y 1 IS El.ﬁg@
STAR0H. D
(1) (A) S06a0 (R) $8:52 500050 (A) & (R) ©59 ANl
(2) (A) 358a% (R) 5852 5D (A) § (R) S0 23683 565
3) (A) 5836 B (R) 50356 576
@) (A) 5358 550 5D (R) 3850

» ©
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144,

145.

146.

26/,
What is Digital arrest ?

(1) Arrest made by police when the necused is in foreign countrics

(2) Arrest made by police when the accused cannol be arrested physically

(3 Arrest made by police when the accused is granted anticipatory bail by courts

() Term used by cyber eriminals to scare vietims
)

L«»u&.\) L)Q U\)"\ D\b } L /_,

' Of i
(1) Dolsocs D33 08" dbysytio AMiows Jo ¢y
(2) VoOBOL Frdsor wBY Jandisyti Fdiows Jio ¢y

< [

(3) VohBLAL §‘08w $20065:9 Voo sy D000 B ¢oQ

o ) Favlon e . sl ™ ) Gis
(4) 208 el erQBoois o BEIoEE TG B0

State which is the largest producer of wind energy in India

(1) Andhra Pradesh (2) Gujarat (3) Tamil Nadu (4) Karnataka

OBRFOS eSO 555 480 ey B ovgo N8 2

(1) esogEas () Kowocd (3) BAFC (4) gt
Match List — I with List — I1 and choose the correct answer using the codes given below. (Common
codes for English and Telugu Versions)
List — I (Emerging Technology) List — II (Scientist)
a. Artificial Intelligence I. Kevin Ashton
b. Open-Al [I. Sam Altman

c. Internet of Things (IoT) :El'

\ih"i II1. Thomas P. Caudell
d. Augmented reality [V. Alan Turing

o — 1 edo - 11 & 30Feyod 500k B 33 FEes &nariod RBS DITET )
DoBEob.

edee — | (Q;.’)Jeoﬁ 033"&91.%) e -1 (?Q;SQ_:?) E]RE]

a. 550 B¢y

b. &5 Al (Open-Al)

c. §otadyes esp Gofiy (IoT)

d. eRoRE Bairde

Codes/S*Ees : a b

(1) | 11
(2) A% 1l
3) 1V |
(4) Il A%

I 32 &30 }‘“‘
I 38 eSS
1L 550 9. ad
V. ©ord 6&5"5505

¢ d
AY 11
1 I11
[11 |
11 |
46 ©
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147 Which Indian ity is recognized for adopting zero waste concept in solid waste management ?

148.

149.

150.

(N Mumbai (2) Delhi

(3) Pune (4) Indore
PN T N 56 m £ =R - =
v 958 ‘J%‘J‘“mo ( ‘?‘w RA o3E30e5) QoI BsTo D (26" 3G TR ,@ @
RBONNOLIRITIF ) gIEHUDH B0 KBo) Fobod ? =175
R AT a -
(1) 2008 2) 8 (3) 3 (4) 266

Choose the incorrect statement.
(1) CO, is continuously being released because of human activities

(2) Deforestation is dccreasing the amount of CO
2 i

(3) Oil spillage causes oxygen depletion and distress to aquatic animals
(4) Burning of plastic reduces the germination of seeds in crop fields
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Radio Astronomy center is located in

(1) Trombay (2) Ahmedabad (3) Dhanbad (4) Ooty
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Which of the following factors contributed most to the burden of malnutrition in India ? gﬁ‘@’
(1) Lack of access to clean water . EH%;:

(2) Poor dietary habits and food insecurity

(3) Overconsumption of processed foods

(4) Increase in environmental pollution
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